Second English Exam :
Second Semester. The 7" Grade
Name : Class ( A )

FERIAIAIAIAIAIAAIAIAIAAIAIAAIIAIAIAIAAIAIAAAkAARAkhkhkhkhkrhkhkkhkhkhkhhkkhkkhkkhkkhkhkhkhkhkkhkkhkhkkikkhkkhkhkkikikkikkhkhkhkhkikkikkikhkikikkikikx

I. Read the following text and answer the guestions below. [ 4 points ]

Sherlock Holmes is more famous than Poirot and Miss Marple .In fact , he is the most
famous detective of all time. The basis of his method was observation , observation and
observation .After observing an-object , he made logical conclusion. Hercule Poirot was less
interested in details than Holmes .He was more interested in studying the mind of the
suspects. He thought that the best tools to solve a crime were the "little grey cells " in the
brain. So, he sat quietly and thought .

1. How did Holmes solve a crime ?

I1. Put the verbs in the table below in the Past Simple tense ??? [ 6 points ]

1.Speak:.................. 4. Meet:..........ooiiiiii,
5. Write: oooovvvi .
6.Stand : ...

I11. Match the words with the definitions. [ 4 points ]
. Easy . Wise
. He makes a good decisions . Elementary

. Polite . Owner
. A Person who has something for himself . Pleasant

111 . Write the adjectives in the correct column from the Comparative and Superlative?
( 6 points )

Word comparative superlative
1.Thin
2.happy
3.Hot
4.Small
5.Good
6.Interesting




